CNV_M1_HG19 8 23013613 23016983 CHS

B CN1 = CN2

1, HG0016 _ e — G005

— | ——— i

e
s ==
e =

! [ e———— 11600400
Hgﬁiﬁ __,—‘

Hegesss

{ 1600652

et NSBB?H =— -W5= S
HegoT02
mm%mg [
S ——— S oggszs
s { 7 0 O A 1600535
Nt e m— @ ggg?é
HGo0663
- [ p— e — i =— = 1%
veees I% —
11288878 G0 G
o HeRsess
HEsgis | LI —_ [ T
e —— ] U Hsmg ——Jicti
Heamg? i - e —— ———— 1350
- i == -.‘ = i
St p— H 88233
= Hegtatt
Hegag =--w 58331% = st —— Wi
iy = NSSSE?% T HGO0610 — s
(LTI Ry ETROR TR —g
Hegten) o =,
st : — (10087
Hesgiss
Hooos12 Hagos?
r— it ! R I SRR 805}
et —— T e
=W
11683683 100 B ) 1
e —
T ™ 555525
1837 :_-— L ——Jici]
[
HEBRi) i vy HeeRes

0
FE T

I — IJS 82%
e NS 8@2

R 11 0 e ——— e
———4
m——— (130825}
1 T 363475
= Hegesst
m———— [1E33413
HGO0565
T T ——— s
L — Ss%u
I §

HEG81%8 e —
= T
=
835

st ————
Hegeess

HG00473

ey

— NSEBESE
Hooos6s

ORISR IO 2 ——
e 1R A 11 0 — "l

"G“i?é ocss

HG00478

——— QS

HG00556

I R I A == [}

TIC00103 e

-100.0 -80.0 -60.0 -40.0 -20.0 0 0 20.0 40.0 60.0 80.0 100.0




